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By leaming, practi
the number combi
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facts. This is
understandi um

The blocks enables the leamers to
w& numbers corectly and neatly.

are number lines at the top of each
€4 bage so that the leamer can work out the
answers- if necessary- by using the
number lines.



gonds to three. Lol

Fill in the missing numbers: 0 1 2 3
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Bonds to three.
Fill in the missing numbers: 0 1 2 3
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Bonds to three. L]

Fill in the missing numbers: O 1 2 3
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_Bonds to three.
Fill in the missing numbers: O 1 2 3
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rBonds to four - plus and minus. 1
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Bonds to four - mixed.

——t—t—t—t—t—t—t—t—t
01’2 B34S & 7 & § 0
Q+l/ = Q)+ 2= [+0=

-I0=[ ZFHO=1 (2

=2=" Z=TY &0

Copyright Depicta 011 482 3512



Bonds to five - plus and minus.|
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Bonds to five = mixed.
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Bonds to five - mixed.
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Now work these out! Fill in the missing numbers.
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Bonds to six - plus and minus.
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Bonds to six = mixed.
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Bonds to six = mixed.

1 1 1 | 1 | 1 1 1 1

! — e
o g & 9 67 & 9 1N

1
1
2

Now work these out! Fill in the missing numbers.
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[Bonds to seven- plus and minus ] &

l l

|
0

I
/

1
2

|
3

L

I
S

)
6

) 1
7 8

I |
9 10

+0= 5 +[3= & +O=
Q+[7= I+HAE | [ FHIN
LEENISIEE ARSI =
[FE=] [+ VAS
FO= 1% R ZRNSFD=
2 +D= — + /=
- AERNTECE
SHEN VIEVER (SIS
£ B=3=] &=
23=Ng-p= Fis-
ViEAERREENIERRSENE
ViE R §6-01=

Copyright Depicta 011 482 3512



Bonds to seven - mixed. ra

lllllllllllll

M )
w1\|1~m

S

I

T
N BN W
I
P
~ N
+ |+
9)

I

pe— -
S—

+0 +/ 1= g’ﬂ-é=
507 S S S S S S

Copyright Depicta 011 482 3512




(=]

Bonds to seven - mixed.
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Now work these out! Fill in the missing numbers.
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rBonds to eight - plus and minus.
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mixed.

Bonds to eight
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Bonds to eisht. - mixed.
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Now work these out! Fill in the missing numbers.
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Bonds to eight. (3]

A spider has 8 legs. These spiders have legs missing.
Draw in the missing legs and write the number

of missing legs in the block underneath v R\
each spider. \ ‘
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Bonds to nine - plus and minus.
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Bonds to nine - mixed.
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Bonds to nine = mixed.
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Now work these out! Fill in the missing numbers.
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- plus and minus.

[_Bonds to ten
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rBonds to ten - plus and minus. P2
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|—Bonds to ten - plus and minus. | =
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Bonds to ten.

6

Fill in the missing numbers.
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Bonds to ten.

Circle the pairs of numbers which total /0.
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The numbers must be next. to each other in bouching
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Number cards on back of page.






Bonds to ten. (=3

Fill in the missing answers.




Bonds to ten. (=]

Put the cards in 6 equal piles so that each pile adds
up to /0. Record your results here:

Pile / O + % go Yy CRETS OO N OO O
Pile 2 + ofz'L.ml:otwopadu- eor::

Pile 3 + turns Lo turn 2 up at a tme. Md&
Ple | | +| : N, o

Pile S + - -

Ple 6| |4 & '

Take any /O of the x'wh. m upside down so that

con't see s see how many wa u can
stack the [0 ¢ nt.o% b 9:;’; ?
excmp@ o— 1 L] ’
]
+[2[+[21+[3=[]10

Now our results In these blocks.
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|_Bonds to ten - plus and minus.

Fill in the answers.

A A I0-3=
8+0= L+b=
2=2= c}g 0-4=
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[0+0= 9-6=
6-5= q-8=
j0-7= |+0=
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I_Bonds to /0 using 3 numbers.| &
Draw circles around the 3 numbers that add up to the

number in the circle.

eg.
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Plus and minus.

Fill in the answers.

2+2+2+2+2=

O+2+L+/+O=

0-5+3-2-/+]=
5-3+2+[-[+2=
[+2+3+[+2+0-2=

3+3+3= %
[+2+]+2+ =
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Plus and minus.

(53]

Work out each cnswer ond then draw a line to the correct

answer on the ont's back.
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